
USE YOUR TIME PRODUCTIVELODUCT(OU2.9 (. SET)]TJ
ET
 0.166  sc26  sc5
/GS1  6138.968-792 53.03W n
qfCS0 1 1 1 /GS1 g1 T1
30.781430.78143166.6807 756.3695(USE(THE UN41.RSITY OF SOUTHERN MISSISSIPPI)Tj
ET
 02346  s766  295(/GS1 190.659-795.45 -64.792 64.792 n
qfC  2626  2 30.33(/GS1 263 295-795.45 -64.792 64.792 n
qfC  2 30.38930.423(/GS1 335.832-795.45 -64.792 64.792 n
qfC  2726  50 30.5cn
/GS1 408.419-795.45 -64.792 64.792 n
qfC  2266  6436  645(/GS1 481.005-795.45 -64.792 64.792 n
qfCS0 1 1 1 /GS1 g1 T2
30.7856.729330.7856.72933144 2 91 629.2979(USE(S)Tj
ET
 02346  s766  295(/GS1 111.581 396.80 3-54.534654.5346n
qfCS0 1 1 1 /GS1 47.880930.7847.8809372 69346408.4961(USE(S)Tj
56.729330.7856.72933286 275.5929.2979(USE(A)Tj
-1.391 Fm0d
(M)Tj
2.684 Fm0d
(R)Tj
1.342 r0.041m0d
(T)Tj
 0.123 0.126  scn
/GS1 g1 Tf
30.7853.981530.7853.98153.12.51668569.54.44USE(G)Tj
2.827 Fm0d
(A)Tj
-1.496 Fm0d
(O)Tj
2.9c26 m0d
(L)Tj
1.2556 m0d
(S)Tj
 02346  s766  295(/GS1 g1 T2
30.7829.340 30.7829.340 3.12.4229 488 8828(USE YSPE)30 (CI)-9.9 (FIC)]TJ
 0.123 0.126  scn
/GS1 g1 T3
30.7813 695930.7813 69593.12.4229 410.0996 USE YW)59-(hat speci�c actions will I tak)10 (e?)]TJ
ET
 02626  2 30.33(/GS1 111.581 324.519--54.534654.5346n
qfCS0 1 1 1 /GS1 g1 T2
30.7847.880930.7847.8809364.7402 336 205(USE(M)Tj
 02626  2 30.33(/GS1 29.340 30.7829.340 3.12.4229 358 Tm37 USE YME)10 (A)40 (SU)-10 (R)10 (ABLE)]TJ
 0.123 0.126  scn
/GS1 g1 T3
30.7813 695930.7813 69593.12.4229 342.4561(USE[(How will I know wh)10DUCTen I have )]TJ
  -1.2m0d
[(accomplish)10 (ed my goal?)]TJ
ET
 02 30.38930.423(/GS1 111.581 252023--54.534654.5346n
qfCS0 1 1 1 /GS1 g1 T2
30.7847.880930.7847.8809367.1104 263 918(USE(A)Tj
 02 30.38930.423(/GS1 29.340 30.7829.340 3.12.4229 286 3047 USE YA)70 (CHI)-10 (E)10 (V)200 (ABLE)]TJ
 0.123 0.126  scn
/GS1 g1 T3
30.7813 695930.7813 69593.12.4229 27  s65(USE(Is this goal something that can )Tj
  -1.2m0d
(actually be done?)Tj
ET
 02726  50 30.5cn
/GS1 111.581 173 941m-54.534654.5346n
qfCS0 1 1 1 /GS1 g1 T2
30.7847.880930.7847.8809372 69346191.62 9(USE(R)Tj
 02726  50 30.5cn
/GS1 29.340 30.7829.340 3.12.4229 214.0151(USE[(RE)10 (ALIS)30 (TIC)]TJ
 0.123 0.126  scn
/GS1 g1 T3
30.7813 695930.7813 69593.12.4229 197.8774(USE[(Given my str)24CTengths and )]TJ
  -1.2m0d
[(weaknesses, is this goal r)23.9 (ealistic?)]TJ
ET
 02266  6436  645(/GS1 111.581 107.652m-54.534654.5346n
qfCS0 1 1 1 /GS1 g1 T2
30.7847.880930.7847.8809372 69346119.3394(USE(T)Tj
 02266  6436  645(/GS1 29.340 30.7829.340 3.12.4229 1(OD7266 USE YTI)10 (ME-B)20.R TIMND)]TJ
 0.123 0.126  scn
/GS1 g1 T3
30.7813 695930.7813 69593.12.4229 122 T8 9(USE YW)59-(h)10 (en do I need to have this )]TJ
  -1.2m0d
(done?)Tj
16.065(28.949m0d
(1.)Tj
1.3386 m0d
(I will enter all my major assignments )Tj
  -1.2m0d
[(into my planner/calendar within th)10 (e )]TJ
  -1.2m0d
[(�rODUCTst t)-UR Two weeks of class.)]TJ
-1.3386-1.944m0d
(2.)Tj
1.3386 m0d
[(I am going to study har)24CTder and truly )]TJ
  -1.2m0d
[(tr)-UR Ty to be a bet)-19.9 (ter student.)]TJ
-1.3386-1.944m0d
(3.)Tj
1.3386 m0d
[(I will k)10DUCTeep on top of my assignments )]TJ
  -1.2m0d
[(this year and turn th)10 (em in early)436(.)]TJ
-1.3386-1.944m0d
(4.)Tj
1.3386 m0d
[(I will meet with a tutor for intr)24CTo Ch)10 (em )]TJ
  -1.2m0d
[(once a week for th)10 (e semester)47.96(.)]TJ
-1.3386-1.944m0d
(5.)Tj
1.3386 m0d
[(I will �nd a job th)10 (e �rODUCTst week of class )]TJ
  -1.2m0d
[(so I have some extr)2UCTa money)43DUCT.)]TJ
-1.3386-1.944m0d
(6.)Tj
1.3386 m0d
[(I will apply for a minimum of t)-UR Two )]TJ
  -1.2m0d
(campus positions posted on )Tj
  -1.2m0d
[(Handshak)10DUCTe ever)-UR Ty week until I am )]TJ
  -1.2m0d
[(of)-20 (fer)24CTed a position.)]TJ
-1.3386-1.944m0d
(7.)Tj
1.3386 m0d
[(I will spend mor)23.9 (e time studying and )]TJ
  -1.2m0d
[(less time socializing fr)24CTom now on.)]TJ
 02346  s766  295(/GS1 g1 T2
30.7814.19830.7814.1983339.4951(529.6851(USE[(Quiz: W)9.9 (hich goal)10DUCTs ar)40 (e S)20 (MAR)9.9 (T goal)10CTs)50CT?)]TJ
 0.123 0.126  scn
/GS1 g1 T3
30.78-830.78-83558 8465(112.5698(USE Y1 SMART)74.9 (, 2 Not speci�c, measur)2UCTable, or timely)43DUCT. 3 Not speci�c, )]TJ
  -1.2m0d
[(pr)24CTobably not r)24DUCTealistic. 4 SMART 5 Not speci�c, may not be )]TJ
  -1.2m0d
[(achievable. 6 SMART 7 Not measur)2UCTable, may not be r)24CTealistic, not )]TJ
  -1.2m0d
(timely)Tj
1230.7812 57.15638532.7642 USE YSet)-20.R Tting goals that ar)24CTe speci�c, measur)2UCTable, 


